| = ‘ THURSDA
NPVN\E" A r‘\s\(Jcr-\T%

Find as many products as you can in one minute.

Find as many quotients as you can in one minute.

14+2 = 49 +7 = 6+-6= 62 =

18+6= 7+7= 2+1= 2+2=
8+2= 42 = 5+1= 6+-1=
42 +7 = 35+7= 12+2 = 42 -6 =
42 +7= 10+5= 24 +4 = 6+-6=

~ lIrene bought fruit to make a fruit salad. The chart shows the
amount of each fruit she bought in pounds.
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. Welght\\ ? 1. About how much did the apples and grapes
Fruit (b) | E—
: | weigh altogether?
Apples 2.04
Oranges 2 91 2. About how much more did the oranges weigh
than the strawberries?
Bananas 3.16
Strawberries 0.96 3. About how much did the bananas and oranges
weigh altogether?
Grapes 1.87
4. About how much more did the bananas weigh
than the apples?




Order the numbers from least to greatest.

7. 0.37,0.41, 0.31 8. 1.16,1.61, 6.11

Round the decimal numbers below to the nearest whole number.

3.32 | 0.7 90.94 79.88
1.6 9.82 0.3 7.61
8.28 2.15 1.84 21.81

'The arrow is pointing at 50.
About where is 5? 55? 105?

Y

- :

50

‘Writé each number in standard form.
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1. Two and seventeen-hundredths

2. 80+ 7+ 0.09



